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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 T T
oo HTpcaT=a ATAET AR gLTorel o faer. Question ID : 9864494204

Status : Answered

Chosen Option : 1

Q.2 1962 FHedr go =weler = & W. T WEHR IHEA HIUAT Sdel TE&ad .
: . 2 2 Question ID : 9864492345
fe ' Status : A d
The Dr. B. C. Roy awards, instituted in 1962, are given to eminent achievers primarily alus - Answere
from which field? Chosen Option :1
Ans 3ﬂ.q.,‘,:].
v
Medicine
Court esy
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X 2 TR

Journalism

.#ma

Sports

X4 ;

Law

Q3
WreiTel We=T disar Question ID : 9864492839

Status : Answered
{38- (60 ~+ 5x16 — 8+ 2 + 3)} =7 Chosen Option : 1

K3

Solve the following.

[38-(60 + 5x16 — 8+ 2 =+ 3)} =7
Ans x1. 10

< 237

< 3 29

v 422

ad TR HroTet ﬁq\ﬁ- ST EE.F'H 3“%-9 Question ID : 9864493354
Which one of the following triad represents Dobereiner’s Triad? Status : Answered
Ans x 1. LI, CEI, Cl Chosen Option :3
/< 2.Na, Sr, Br
« 3 Li, Na, K
X 4 Li, K, Na

Qs
WA ST TEehI= AT HAT A0 TEJHIA 3182 Question ID : 9864493233

Which one of the following elements has the lowest atomic mass? Status : Answered

Ans mm Chosen Option : 2

4w Hexmed [CCirsIEn
Teh IET HHAT? Question 1D : 9864492601

Status : Answered

How many kilometres are there in one metre?
Chosen Option : 4

Ans X" 1.0.0001
X 2.0.01
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Q.7 3 I 2018 & GUER EidT. WIelerish HIvTeam a6 3 A gerardy
3AA?

374 January 2018 was a Wednesday. Which of the following years will also have 3" January
on a Wednesday?

Ans X 1. 2023
&< 22020
v 32024
< 42022

Question ID : 9864492954
Status : Answered
Chosen Option : 3

Q.8 Kabaddi

P Q R

3 T u

Football o

Cricket

feerem 3 agpcigEn, f&de 0T Fedia W@ 90T FEsEr F Wem=ar
wepuT e FEar fRr HE?

Kabaddi

P Q R

=3 T u

Football v

Cricket

As per the given Venn diagram, the total number of students who play cricket as well as
football but not Kabaddi is .

Ans X1F|
vV
X3T
X 4R

Question ID : 9864494035
Status : Answered
Chosen Option :1

Q.9 mmmmwm?@ammﬁ
‘Which of the following is a velocity—time graph for uniform motion of a car?

Ans x1_

E ) -’L\'-\ g "“‘1
H L _Nuw_s ..
= . '\./ ‘\...
’ i &+ 3 » u
Time (s
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Question ID : 9864493479
Status : Answered
Chosen Option : 4
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Q.10 syrarAys sfFicar FEt 2018 HE rEaen AT REde G

‘Which of the following films is India’s official entry to Oscars 20187

Question ID : 9864492292
Status : Answered
Chosen Option : 3
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.

X2

37 3T A ¢ A

A Death in the Gunj
ferafees 3T AT FT@r

| Lipstick Under My Burkha

x o T

Bahubali

edcel
v S
Newton

BaS0, o #Amr 3TE.

excess of dilute H,S0, is

Ans .;w.szImq
233¢g

, 2.087mH
208¢g

23.3 A
3'23.3g

, Losam

1.04¢g

<

<

~<

Q.11 BaC1l, =ar 2.08 I Qo [#seme 3for e H,S0, =1 Fgadel dar Seler

(Ve aete: : Ba= 137, C1=35.5,$=32,0=16)

The amount of BaSO,formed on mixing an aqueous solution of 2.08 gm of BaC1, and

(atomic weights: Ba =137, C1=35.5, 8§ =32, 0 =16)

Question ID : 9864493107
Status : Not Answered
Chosen Option : --

Ans pth
v

Ship

x 2 hsiF

Fish

retaW
p 3

Water

reviR
X 4

River

2 gafirg AT TR e ATEn

? . aeS :: raC : daoR

Find the missing word for the related pair.

Road : Car :: Sea: ?

Question ID : 9864494318
Status : Not Answered
Chosen Option : --

Q.13
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AT 2018 FER S O AR 33T =ur HEw FEEN HES FIOT HgS? Status : Not Answered

Who is the Chief Executive Officer (CEO) of JP Morgan India as of February 20187 Chosen Option : --
Ans e frzars
oilel
X1
Naina Lal Kidwai
?<ZanﬁTuaﬁxn
Shanthi Ekambaram
39T HAJHAHTAA
3. -

~
Usha Ananthasubramanian

4aﬁnﬁrﬁhﬁﬁar

v _
Kalpana Morparia

Q.14 5T WASP STINGS HARD o Hishiae ST8d @ %Z IS shel 3/8e, HARD TO DEAL

T 265 0T HEAL LONG TIME & 896 1S el 30eT, 3¢ HARD =T Shig &1 3 ?

If WASP STINGS HARD is coded as @%Z, HARD TO DEAL is coded as Z65 and ch Ontion - 2
HEAL LONG TIME is coded as 896, what is the code for HARD? osen Uption :

Ans x1_@
vz
X 39
K45

Question ID : 9864494364
Status : Answered

Q.15 Rrem 9o WASE AT 30T STar H WA 3eal JUATHIST TEerl S0 )
Pt g4 a2, Question ID : 9864494078
Status : Answered
frem: Chosen Option : 4

1. IeTSe=r 3 & BidEar B 9Ren AR
2. YA T G THaHIT ITR.

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the colour of the granite in the kitchen?

Statements:
1. The colour of the granite is the colour of the wall.
2. The colour of the granite is very bright.

Ans x1.
SOAT Sca SUATH Tkl 2 JLAT A aT TheT 1 QLT AR

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
&
T & 1 AT 2 TR 3cal qUard P& AR

Neither 1 nor 2 is sufficient to answer the given question.

X 3
13 2 S ToaT 3o S0 & 37Med.

Both 1 and 2 are sufficient to answer the given question.

X 4
oA 3cal SUATH TehaT 1 JUET 1§ T Tehel 2 & AT

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Q.16 ( )
http://rrbportal.com Courtesy : RRB


http://rrbportal.com/
http://rrbportal.com/

ht t

p: /[ rrbexanportal .com

feerear Sofidher seqafeya wer fAasr.

1,2, 6, _ , 120, 720

Select the number missing from the given sequence.

1.2,6, . 120,720
Ans  of 1. 24

<29

X312

X 450

Question ID : 9864493936
Status : Answered
Chosen Option : 1

Q.17 Tt TAhr TEAT BFd Teheld AT 0T i 9TC dAR . 3120 TR
TIR EIUIR el 9TE & R

@ D=]a
(PN

Use each of the following figures only once and form three groups. The three groups thus
formed are:

EN
Pl
=18 A

Ans X1.(1,5,7), (2,6,8), (4,3,9)
v2(1,5,7), (2,6,9), (4,3,8)
x3(1,9,7), (2,3,9), (4,6,8)
#<4(1,9,9), (2,6,7), (4,3.8)

Question ID : 9864493849
Status : Not Answered
Chosen Option : --

Q.18
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Question ID : 9864493799
Status : Answered
Chosen Option : 2
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1 Fegrelr HaEfT SHerer 3 st

SE=I=]

A B C

Select the figure which does NOT belong to the group.

N =
D

A B c
Ans X 1.C
v2A
< 3B
X 4D

S

Q.19 war =TT S 84 HEHIET 3. 792 HETH T TIEHAUT FIOAEIS! e
forelr 3=t frgara amer?

A wheel has diameter 84 cm. The number of complete revolution it will take to cover 792 m is:

Ans  of 1300
< 2 330
#< 3. 350
& 4320

Question ID : 9864492531
Status : Not Answered
Chosen Option : --

Q.20 & ATaTAe T 3T FET a1t Ay
is not an endocrine gland in humans.

Ans Rfeae afy
.
The pineal gland

Y &) j
The liver

?<3.3ﬁaqﬁa:dﬁﬁ
The adrenal gland
R oy

X4
The pituitary gland

Question ID : 9864493458
Status : Answered

Chosen Option : 2

4! Forra=an fETaTH T AifTcer HE?
What does Coulomb’s Law state?
Ans x 1.

http://rrbportal.com

Question ID : 9864493386
Status : Answered

Chosen Option : 2
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gt Toig, STeRTE= =2 3TeR¥uT (e fasrdon) aerer aRETT & g FeRT=ar
SHTOT=2T I[UTFRTHIE 0Ed WA 18 T T8 ear=arditel Haqr=ar oiafr
S BATGHTAT 378

The magnitude of the force of attraction (or repulsion) between two point charges is

inversely proportional to the product of the quantity of the two charges as well as to the
square of the distance between them.

X 2
2 g TR aTa=a 3T (fRar o) s@re afarr & @ s
SHIOT=AT UNHRTHE S @A H1g F car=aTale Far=ar 2= 3
AT 318
The magnitude of the force of attraction (or repulsion) between two point charges is

inversely proportional to the product of the quantity of the two charges and directly
proportional to the square of the distance between them.

X 3
et fiig T TRTeR A== 3T (foeT faeon) aer afteer & g e
AU UHRIAE T cai=aTelel Se=aT e & FATIA HTE.
The magnitude of the force of attraction (or repulsion) between two point charges is

directly proportional to the product of the quantity of the two charges and to the square of
the distance between them.

o 4
2t g T RTET =TT JTeRYoT (foFar faedn) e ofEoT § & wemr=ar
THATOT=AT JOTESRTHES N FATTIA g T eTr=aTeiier a2 aamel eaea
AT HTe.
The magnitude of the force of aftraction (or repulsion) between two point charges is

directly proportional to the product of the quantity of the two charges and inversely
proportional to the square of the distance between them.

Q.22

Ans

Select the option that represents the number of triangles in the following figure.

X112
X215
X317
v 16

Question ID : 9864493979
Status : Answered
Chosen Option : 2

Q.23

http://rrbportal.com

Question ID : 9864494001
Status : Not Answered

Chosen Option : --
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ET | AtmaEar | @er | FReR | weRas %

200 150 | 50 -

- 200 | 100 66.6
150 50 | 100 -
120 - 90 25

o0 |m| >

feeroar Afedd=ar TUREY, I AEUHET e THUT Tapad, T
ZTereT T Famem T AR

City | Population | Literate | Illiterate | %o of
literates

A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

Based on the given data, the total percentage of literates in the four cities together, round
to one decimal, is

Ans o 1558
/< 255
#3559
/4557

Q.24 FHraw TEEAT 3N, ITHEART 0T S U5 SEHET Sar T swoar=ar
ST I A

The process of taking up a permanent shape, size and function to form a permanent tissue

is called:
Ans " figa (differentiation)

Differentiation

X2 THARIOT (unification)
Unification

o, TBT / fAToT (formation)
Formation

x4 Fedifthaeld (calcification)
Calcification

Question ID : 9864493195
Status : Answered

Chosen Option : 2

Q25 T1elier gAY FHIRIUT FAGTHIT Hael geiaa?
The second equation of motion gives the relation between:
Ans feerdr 37T AIeT
' Position and velocity
v T 0T des
Position and time
T 0T des
&VﬂmmYMMﬁmﬂ
AT AT gaar
* Velocity and acceleration

Question ID : 9864493500
Status : Answered
Chosen Option : 3

Q.26
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Railway Recruitment Board (RRB) NTPC Exams Study Kit English
I 91t SIS AT (NTPC) I8 38T Ao il
RRB Loco Pilot (ALP) Exam Study Kit English
{4 it S Sl IIRIeIE (ALP) S0ETT 3EU0eT Aealt i)
RRB Group-D Exam Study Kit English
Yrd #1clt SIS Group-D IHET eI AN i)
Study Kit for RRB JE (Junior Engineer) Exam English
AR FfAR St e (=0T -1) 3eaae fohe )
IAS EXAMS STUDY MATERIALS
Study Kit for IAS (Pre) GENERAL STUDIES Paper-1 (GS) English
Study Kit for IAS (Pre) CSAT Paper-2(Aptitude) English
AT AT (GS) IR T (Pre) THR-1 fe=ar
S, U vy, (H-He) TR giET 99T -2 fe=ar
Gist of NCERT Study Kit For UPSC Exams English
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faege TR ST Teheh fehelt 32
The ST unit of electric charge is:

Ans x1m

volt

X 2 c
ohm

x 5 ST
ampere

¥ X

coulomb

Status
Chosen Option

:Answered
1

Q27 {17 x 29 =493, d¥ 170 x 0.029=?
Given 17 x 29 =493, then 170 x 0.029 =?

Question ID
Status

19864492981
:Answered

Ans x1_4
xX22
Vs 3
X 45

Chosen Option :

Ans " 1.40 3 Chosen Option : 4
~< 2.0.0493
#3.0.493
v 4493
A S 1L = t!'\uﬁ' ST S 3t ¢ < e el Question ID : 9864492985
If the number x4441 is divisible by 11. what is the face value of x? Status : Not Answered

Q.29 766 TE WU W FeAETT T I Weout R 15% T Hesaer. T
= desvar R e B g

After buying a toy for T 66, Raghu managed to sell it at a profit of 15%. The selling price of
the toy was:

Ans X 1. F 76.90
< 2.770.80
'3 %7590
K 4.F75.20

Question ID
Status

Chosen Option :

19864492969
:Not Answered

Q.30 aAwlr ST Tierear 3= wAOT 4: 3 g, SR el 1.2 Ay 39 e
el 3= fehedt 3mE?

The ratio of the heights of Nani and Leelu is 4:3. If Leelu is 1.2 m tall, then what is the
height of Nani?

Ans
«1_1.634’12‘{
1.6m
x2_1.3#m

18m

http://rrbportal.com

Question ID
Status
Chosen Option

19864492525
:Answered
1
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Q.31 wreiter FtetoT STEUT arsgE R derear AU Aiet=ar T Seiw
HFHAT FA FFOS LHS = RHS.

5035 = 20

Select the appropriate combination of mathematical operators to be sequentially placed
between the numbers given on the left of the following equation so that LHS = RHS.

5035 =20
Ans &1 4 x -

2 -+ x
A3 x + -
K4+ - ox

Question ID : 9864493996
Status : Not Answered
Chosen Option : --

4% grefreriedr Hvre e THer 3TR?

Which of the following statements is INCORRECT?

Ane v TATET 3SR AR sraar
Solids have indefinite shape

| T AR AR s@d
Solids have definite volume
TG, § SgaFee HEPT HAAA
3. ™~ %- -

~<

<
Solids are almost incompressible

T T8 IEad

X4
Solids are rigid

Question ID : 9864493228
Status : Answered
Chosen Option :1

Q.33 sREr=aT FET TET Se9e FAEUIIT TEEAr =T Raves fgads wor
HTgd?

Who is the director of Indian cinema’s highest grossing film Bahubali?
e e e s
Sanjay Leela Bhansali
v TH TH J=AAter

SS Rajamouli
3. FI0T AT

Karan Johar

Gautham Vasudev Menon

~<

x

Question ID : 9864492171
Status : Answered

Chosen Option : 2

Q.34
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MABELA, MABLE, MABUSE, MABEPEARL,

W T ool g RRmiwed ar FAT Suearw av g 9=9dr Jumr e
T e

Question ID : 9864494122
Status : Answered
Chosen Option : 2

MABELA, MABLE, MABUSE, MABEPEARL,

If the above given words are arranged in the dictionary then the last word is:

Ans 1. MABLE
v 2 MABUSE
/< 3. MABEPEARL
# 4 MABELA

Q.35 giftidrr Aofir afger wor g 9iem?
129, 120, 111,102, ...

Find the first negative term of the below A P.

Question ID : 9864492615
Status : Not Answered
Chosen Option : --

128,120, 111,102, ...

Ans
qﬂ_usﬁtm
16™ term
?<215qua
15™ term
?<&1431qa

14% term

?<41331qa

13" term

Q.36 =rer IO BT A=A JuHYGS FIF 6 Fur HE. SYegT e 30 At
THAFEN T For AT SET T AT =iae PBRT=ar Sara 9= ST
A, Y, oA scar=ar gaTEr afe TR
The difference between Charles’ and Shriya’s ages is 6 years. When they married each

Question ID : 9864493033
Status : Not Answered
Chosen Option : --

other 30 years ago, 4 times Charles’s age was the same as 5 times the age of Shriya. What
is the current sum of their ages?

e o 115 ¥
115 years

112 =%
112 years

114 7§
3.
v 114 years

110 =¥
4.
" 110 years

Q.37 Zf&oT TEETE AT G T U TR s 30 R A8 9 58
Fg?

Dakshin Gangotri is a research base station set up by Indian scientists. Where is it located?

Question ID : 9864492130
Status : Answered
Chosen Option : 2

Ans s
%:L{FREHHTFmga'Haﬂ
Sundarbans Delta

http://rrbportal.com
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X2 AT
Sri Lanka

Xs_mﬁﬂﬂﬁ?}!ﬂﬁ'

Cauvery Basin
JerfFea
Antarctica

v

Q.38 ST X o - Y T Z I7 ar sfeol amga, W= 3m€ & Y =ar afdemsh sfor o,
W W T Z o s AT 3R
If X has two sisters - Y and Z, and W’s mother is the sister of Y’s father, then W is Z°s
—_ Chosen Option : 1

Ans
1 AT/ s

Question ID : 9864494066
Status : Answered

Niece
X 2 Jﬂé-
Mother
CEIC]
Father

«43313 HTF/EEI0T

Cousin

Q.39 :
TeilerdshT FHed fauHAT gemer Hodr? Question ID : 9864492840

Which of the following will give a terminating decimal? Status : Answered
Chosen Option : 4
v

36

X222

36

p

36

x412

36

X 3

Ans

Q.40 1T 8% W =TT aXraT 2 T T 9 Afger Jaaerel Whd Freaedr=ar
A 3 732 g, AT YA AU Forel T@RA el g

A sum of money invested for 2 years and 9 months at the rate of 8% simple interest per L
annum became T 732 at the end of the period. What was the sum that was initially Chosen Option : -
invested?

Ans X 1.F 500
< 2.3 575
< 3. F 550
v 4 T 600

Question ID : 9864492687
Status : Not Answered

Q.41
Question ID : 9864494320

Status : Answered
Chosen Option : 1

http://rrbportal.com Courtesy : RRB
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fesemr Frmn TR w07 WIS IO eI (YO IReT W § ST

T
= Feeamai=h fT wmefaT FoaT el 3 - U HEET BT
STeorell HeEl.

RO

1. e e AElE T T AR
2. T ST FeTg W oMeeT e HUE A=
Rorar ererar 3.

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

“A visit of school students to botanical garden to widen their knowledge of natural
resources has been arranged” — a message on the notice board in the school.

Assumptions:

1. Botanical garden are full of natural resources.
2. School students are likely to learn more through interaction with the new
environment.

Ans TR RO 29fquT 3.
o Only assumption 2 implicit.
v 13710 281r afquT 3.
Both assumptions 1 and 2 are implicit.
X 3
uRoT 1fbaT 28N 4T veRdr SR A,
Neither assumption 1 nor 2 implicit.

, R erom 1R e,

Only assumption 1 implicit,

X

Q.42 :aAfERr Tegud=ar sfagraTde aaTe 9iis AU v T Afrmee g A §
TR HT9OT 20T, AN T T g

One of the most famous speeches in U.S. Presidential history is ‘The Gettysburg Address’.
Name the US President who gave this epochal speech.

| R Ese
Theodore Roosevelt
. ST T, SheAsy
John F. Kennedy
o, SR
George Washington
| 3TeH fofehet
Abraham Lincoln

-

Question ID : 9864492137
Status : Not Answered

Chosen Option : --

Q.43
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T g7 3 =7 ST afEvfean aftain veAT HenT AR WEE 9 Question ID : 9864494341

?8ET AT FT Status : Answered

Ryaan is Vehaan’s mother’s sister’s father’s only son’s son. How is Ryaan related to Chosen Option : 1
‘Vehaan?

Ans v FFN  FGU-Fad A15/(Cousin)

Cousin
X JauaAT(Nephew) ST=/

<
Nephew

F
Uncle

Q.44 Fara, 9ra REda e 2 d@T Hae A AFE TeEEE B H{var Question ID : 9864492369
o uestion .

‘Which Indian female mountaineer recently created the fastest record of scaling Mount Status : Answered
Everest back-to-back twice within 5 days? Chosen Option : 4

Ans a0 T T
Bachendri Pal
X2 QHAAT 3PRETH
Premlatha Agarwal
3R] SHEAT
Anshu Jamsenpa
, Hotear faeer
Arunima Sinha

v

x

Q.45
272259 Elﬁ':l:l@ :? Question ID : 9864492863

Status : Answered

The square root of 27225 is: Chosen Option :2

Ans X 1.145
< 2155
<3175
W 4165

Q.46 ST ABCD & U& THcid did 378, o &9f AC 3T &o7 BD & fdg
AT O fdgat dedid. o¥ AC:BD___ 378,

If ABCD 1s a trapezium, AC and BD are the diagonals intersecting each other at point O. L
Then AC:BD is Chosen Option : 1

Ans X 1. AD:BC
< 2. AB:CD
# 3 AB+AD:DC+BC
v 4 AO-OC:0B-ODss

Question ID : 9864492618
Status : Answered

Q.47
Question ID : 9864492397

Status : Answered
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‘Who is the Deputy Chief Minister of Bihar as of February 2018?

xﬁm ICCIE R IPsEI G
Ram Vilas Paswan
elle] FHIE T

Lalu Prasad Yadav
et foegt
Shatrughan Sinha
gefter AT AT
Sushil Kumar Modi

Ans

X2

X s

v

l

Chosen Option : 4 J

Q.48 wer uraerEar TR U 0.1 fralterAmr =I5 Hisel S, et dr 2 Fiet Shaw=
ST gt ed Fa FHorel I I (= 9.8 m/s?):

A ball of 0.1 kg is dropped from rest. When it falls through a distance of 2 m, the work
done by the force of gravity is (g = 9.8 m/s?):

Ans  X'1.00987

K 2.-1967
V31967
X 40987

Question ID : 9864493222
Status : Not Answered
Chosen Option : --

Q.49 fEeer frame @Y 3 318 TH=T 0T 31T 7 e freameeT aeedar
ForT oy ARaaaor Fear I

ICCICH
T AT I8 MRS, | &9 9ET R

IC = H

1. O A3 &5 4.
2. W9 T FeIm 4.

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All rivers are holy. All gods are holy.

Conclusion:

1. All rivers are gods.
2. All gods are rivers.

Ans x113ﬂﬁl'2anﬁ'3-1§W3T%H

Both 1 and 2 follows
X2
Fa ey 1 81 uremt HeHEeT 1Y

Only conclusion 1 follows
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Question ID : 9864493902
Status : Answered
Chosen Option : 1
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Neither 1 or 2 follows
Fa@ AT 2 ITAET Y
4.

Only conclusion 2 follows

x

Q.50 A

E

TS aerFed, STETAB A1 D &7 DE FRISHE He@=vaTd sieavard 7ol 31E. 1T
AB = 5 H8#zT 31f9T DE = 6 SEireT 378w 97 BD= o€ Frar.

A
B

E

In the circle above, chord AB is extended to meet the tangent DE at D. If AB = 5 cm and
DE = 6 cm, find the length of BD.

Ans ?<1.6ﬁﬁhﬂ31

6 cm
?rzsiﬁmmar
5cm

3J3T:-q?ia1fi’|a

V30 cm
«hk4iﬁmmar

4 ¢m

~x

Question ID : 9864492695
Status : Not Answered
Chosen Option : --

Q.51 sl o FEiEase o6 ST S ATE o HAT=AT TR T TEd Shel STa?
In plants, the carbohydrates which are NOT used immediately are stored in the form of:

Ko
Fatty acids
TLET
Fats

sz / T

Starch
&Y AT
Amino acids

X 2

v 3

X4

Question ID : 9864493256
Status : Answered
Chosen Option : 1

Q.52
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Question ID : 9864494269
Status : Answered
Chosen Option : 3
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TR W2 I 0T SXAT T WIS HOTENE) T aET 378

Rzt el g AR
TH 1: IS g9 FHAIT L.
TF 2: FUET TEIT IR,

Read the given question and decide which of the following argument(s) is/are correct.
Hydrogen is in a cylinder.

Argument 1: Hydrogen is in a liquid state.
Argument 2: Hydrogen is in a gaseous state.

Ans ‘,1_3#1%2%@3@?3@

Either argument 1 or 2 is correct.

ZqﬁFrH#'1aﬂET3ﬂE

Only argument 1 is correct.

&QEETFﬁ?2 FNET 318

Only argument 2 is correct.

4_3#1%233@-&@31?@.

Neither argument 1 nor 2 is correct.

x

~x

~<

Q.53 werA TS FH ¢ awid quT &% 2Rl 9T THCAT B AT o F1H YU FIUATEIST
12 f=w @, ¢ Hee fHge J 16 FToamd o 4 Ee deen. ¢ o
D THIT0T E FI 15 THa 07 FF A, T THATD A F FA 7
FOAES! el fe=a e

A can complete a task alone in 8 days, while B takes 12 days to do it by herself. Together
with C it takes them 4 days to complete the work. If C and D together can complete the
task in 15 days, then how many days will D need to complete the task by herself?

Ans x 1. 30
< 2 32
v 3 40
< 4 36

Question ID : 9864492929
Status : Not Answered
Chosen Option : --

Q.54 A ABC #edt, AB = 8 @dHeT. £Aem D aT Hiais §9= BC =X Dar
A BD = 6 ¥deie T DC = 7.5 Hduhet fHwd. CAS widr a
2

In A ABC, AB = 8 cm. #A is bisected internally to intersect BC at D. BD = 6 cm and DC
= 7.5 cm. What is the length of CA?

Ans ?<1115$Ehﬂ31
12.5 cm
?<212ﬁ€hﬂ31
12 cm

?<31&5$Ehm31
10.5 cm

‘,410ﬁ€hﬂ31

10 cm

Question ID : 9864492775
Status : Not Answered
Chosen Option : --

Q.55
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Status : Not Answered
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AT auiqdl qfermr o 99 81T oA TS oy a3 o l Chosen Option : - J
AT VN 197 9 isedra] o 20 3 gId. o 3Tar o fhdr aart
HE?

One-third of Poojitha’s age three years ago plus one-half of her age two vears from now is
twenty vears. How old 1s she now?

Ans
26 aq
F !
26 years
23 af
~ 2
23 years
25 aq
<3
25 years
v 24 aq

24 years

Q56 FTeleThT FIUTdr TIST ITTRTMHATT 3Te? Question ID : 9864493383

Which of the following is a Non-Luminous body? Status : Answered
Ans FIAAT
' Firefly
, ST HUTEel
Burning candle
THRUITHT dod
’ Glowing bulb

Chosen Option :1

~<

(4.;@-

Moon

Q57 3fSureRs faEe=TTae ITAIATH A e FIY 3cue FLa? Question ID : 9864493170

Ammonium nitrate, on thermal decomposition, produces: Status : Answered

Ans NH3 m NO Chosen Option : 3
Ko
NH; and NO
N, 0 37107 H,0
) N,O and H,0
NH, 371191 NO,
'NH, and NO,
N,, 37191 H, 0
‘N, and H,0

v

X3

F

Q38 Frgar=aT FEESTHALY FIUAT THI I AT
2 < HTH : Question 1D : 9864493184

Name the type of mirror used in the headlight of vehicles: Status : Answered
Ans Chosen Option : 3

http://rrbportal.com Courtesy : RRB
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" HTaF AT
Concave mirror
X2 FaTe-afgeter ARET
Plano-convex mirror
X3 gfgeifer 3RET
Convex mirror
. HYTS HATLHT
Plane mirror

Q.59 wehr FiFqex FHAL, Taesy 0T fawrers 3. O T gt 20 3mea.

IR FIET AV Teheeasiiad! fHd IARUART Yol el o Heedi= ol
Teheoll 3eavd HUAET Yo shell. Yo [desy Tadaqur 15 dfiid T f&Hd
3HTE ekl d¥ HIUTATE! fdameres O Bid 10 ardid 3easd &% Aehdl. STegl

fa9r Froreddr fofa srer 3nfOT SR W 20 faesy anfor fammers fage wfdacer
3 /i fHd 3HE Aehdld o AT faemren fhdr 3méd?

In a computer game, there are builders and destroyers. Together there are 20 of them.
Some of them try to build a wall around a castle while the rest try to demolish it. Each of
the builders can build the wall alone in 15 hours while any of the destroyers can demolish
it in 10 howrs. If all 20 builders and destroyers are made active when there 15 no wall and
the wall gets built in 3 hours, how many of them are destroyers?

K15

8
<37
6

Question ID : 9864492849
Status : Not Answered
Chosen Option : --

Ans

Q“Iﬂ@ﬂhﬁammwrmqgigﬁmﬂﬁqwﬁgmaiﬁﬁ?

Which of the following gases turns lime water milky?

v Co
CO,

Question ID : 9864493569
Status : Answered
Chosen Option : 3

Q.61 ferear qarATYHr HUE THT Wielel Hgpa T gfafde aifaa?

15UP5062

‘Which of the options depicts the correct mirror image of the given figure?

15UP5062

™ v-830equet

x>5062UP15

http://rrbportal.com

Question ID : 9864493975
Status : Answered
Chosen Option : 3
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x> 2605PU51
x-S805qUP51

Q.62 A, B anfuT C 7= wHHoT T 1560 = a0l 3wy shell @ H AT, B=w
TR 50% @A Fea 3for B &, Ceor fHevarar TaEsm 20% Jrer et

Question ID : 9864492447

T Berr R T o Status : Not Answered
A total amount of ¥ 1560 is to be divided among A, B and C such that A gets 50% of Chosen Option : --
what B gets and B gets 20% of what C gets. How much will B get?
Ans X 1. T 540
X 2. 280
<3 T 440
v 4T 240
Q.63 Frefreridr FIUTAT HTTAT m‘ TTOTeTH Fl'lﬁ")
2 2 : Question ID : 9864493372
Which of the following is not the properties of an ionic compound? Status : Answered
Ans x 1 Chosen Option : 1

oaTd g 10T SgeEed J SRueTm
Soluble in water and insoluble in petrol
x, 59 fadeune 3for Schereeh
High melting and boiling points
x5 T HIfoT TE
Solid and hard
v FaT Faeunes WfT Schoree

Low melting and boiling points

Q.64
Question ID : 9864493906

Status : Not Answered
Chosen Option : --
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eARegr=ar AR AT HFarEr f@as .
Problem Figure
?
Answer Figures
A B C D

Problem Figure - WeaTdrel HThar
Answer Figures - 3cadrarel 3Tepean

Choose the correct figure that replaces the question mark.

Problem Figure

Answer Figures

Ans ‘_,'“1_[)
X2C
~ 3B
X4 A

Q.65
Question ID : 9864493997

Status : Answered
Chosen Option : 2
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feea e Ao s v Ry 39 W Ea wE a9 A ani
ot FEar A

$SM@A#N2B40O&3C5P+D2

The number of letters that are preceded by a symbol but not followed by a number in the
given expression is

SM@AN2B4O&3CSP+D2
Ans X 1.3
X2 4
X 21
w2

Q.66 e, ARa T A= TawuRT AfoeE o8 Teearer HUT Har. &
&4 8% 0T #e T HI0AT TETA FASUNT HE?

The Indian and Japanese Prime Ministers have recently signed a high-speed rail project
deal that will connect Mumbai with which major city?

Ans IEHATEE

1.
Ahmedabad

ZaﬁTﬁﬁﬁﬂ
New Delhi

EEired
K3 2
Bangalore

RIS

| Hyderabad

~x

K4

Question ID : 9864492398
Status : Answered
Chosen Option : 1

Q67 Freferidr FoTer atedr, Uty AT ruTe FT=ATIRT FEE AT
Which of the following does NOT act as both, metal and nonmetal?

Ans ?<13WﬁﬁFF

Arsenic

Question ID : 9864493151
Status : Answered
Chosen Option : 3

Q.68
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Question ID : 9864494331
Status : Answered

Chosen Option : 3
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13

M

23 20 10
W E I

|

2 3 -

Select the odd figure out of the given series.

1. The
2. The

Ans
Ko

W 2

X s

http://rrb

13 23 20 10
M W E J
Ans K 1. 4
<22
V33
X o1
Q.69 feoredr faeme @it 3mea M WHST HTTOT WieTeTd<hr hIoTan(d) sy fararefr
TR AT FHIT T § ST,
Teremer:
TSIl & Y&T Teh T 37Te.
o

1 FSTATe Teheh w4 37T¢.
2 T Teheh felleiT 31me.

Consider the given statement to be true and decide which of the conclusion(s) logically
follow(s) from the statement.

Statement:

Weight is also a Force.

Conclusions:

unit of weight is Newton.
unit of weight is Kilograms.

fersen 1 3foT 2 St g 3Te.

Neither conclusion 1 nor 2 follows.

herd fsehy 1 g 31T

Only conclusion 1 follows.

fersemy 1 3nfor 2 S gHara 31me.
Both conclusions 1 and 2 follow.

portal .com

Question ID : 9864494293
Status : Answered
Chosen Option : 4
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x e sy 2 FHaTT 3T
4.

Only conclusion 2 follows.

Q.70 @reiier W= HTeheil ScciT=T HTpoyehT T asaiel H1. of Scolrer AT
e Question ID : 9864494365
e Status : Not Answered
e JTF Chosen Option : --
ProblemFigure
Answer Figures

Secr=r SRRl

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

®

Answer Figures

Ans X1_C

Q.71 U dis F6 X g1 @R FHe, ce 100 Freleiieraddd sl areeel, Aot dl Seidies aaen A
e 100 Rreirefieqoefa amér aroaa. ot af rdes aeer Jnfor 50 Rreieexada T areraen. cameaT Question ID : 9864493769

Frari=ar SOl Hafta Fvicar GAws dis Fe X 3T 387 3mE? Status : Answered

X leaves his house facing west, drives 100 km, then turnsright and drives 100 km. He then turns left
and drives 50 km. In which direction is X facing in relation to his starting point?

Chosen Option : 2

Ans
3 Icad areaH
North west
, giator gigaH
' South west
< 3 SeR T
North east
X 4 clator qﬁ
South east
Q.72

Question ID : 9864493925
Status : Answered
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T oear Afigdlasd Sy Fshy Fleel 15 Adhdrd? l

Chosen Option : 2

e

TSRO HFd FeI Foirell ool Fdrd. Xl 36
v

1. X USSRl odet el

2. X TAsRuanfT 7 o A0

Considerthe argument and decide which of the given
assumptionsis/are implicit.

Argument:

A popularbankin the city took out an advertisement

stating thatits interestrates for homeloans are much
lower than otherbanks.

Assumptions:

1. Some other banks also provide home loans.
2. Interest rates on home loans differ from bank to
bank.

Ans Uahat fasey 1 fhar 2 oAy
v
Either 1 or 2 follows

Tad oISy 2 TEd

X 2
Only conclusion 2 follows

, 1 70T 2 379 Sieer vy Haaa
" Both1and2 follow

$9% 0T 1 & asig 3

X4
Only assumption 1 is implicit

Q.73 gadisfiad) dgrear v A9l 9ReAUIHEY Fd S § T TAE AR

The work done in one complete revolution of the moon around the earth is equal to:

Question ID :9864493102
Status : Answered
Chosen Option : 2

Ans [
v i "
Zero
X 2
JeCATRYUT Al X TGl waidr qilg
gravitational force * circumference of the orbit of the moon
X 3
JECATRNUT el x TETedr Hardr SO

gravitational force x diameter of the orbit of the moon

http://rrbportal.com
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4.
Al Addr x dEredT Hardr Hedr

centripetal force x radius of the orbit of the moon

Q74 _. . .
AEST 2017 A T T 399 g1 FEE @HAT 300 hew wumw Question ID : 9864492220

(FEIET BT HEAGER) S da Weery ovel. HivaT A
Fomm fRA Azer?

Status : Answered

Chosen Option : 1

Ravichandran Ashwin became the fastest player in the world (in terms of number of test
matches) to get 300 wickets in test cricket in November 2017. Whose record did Ashwin

break?
Ans 1 HAZTAT FToAT2_

Muthiah Muralitharan

?<2Imﬁﬁnzmﬁﬁ
Malcolm Marshall

v, o frh
Dennis Lillee

X4 ﬁ?lé‘ ﬁg?fl’l‘
Richard Hadlee

Q.75 grefratdr For FEfrEwde W o, @ wE, e TR aftr 7% ion ID : 9864493377
. - T T @ _ Question ID : 98644933

. . B o o ) Status : Answered
Which of the following can inhabit the most inhabitable habitats like hot springs, deep sea,
thermal vents and ice in Antarctica? Chosen Option : 3

Ans
F ﬁ'EITUl

Viruses
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